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PHYSICAL EDUCATION
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  “Sound mind in sound body” was profounded by :
(A) Plato (B) Aristotle
(C) John Dewey (D) Pavlov

2. Seeking of “Truth, Beauty and Goodness’ is aim of :
(A) Pragmatism (B) Naturalism
(C) Realism (D) Idealism

3.  Olympic games in 2008 will be held at :
(A) Australia (B) China
(C) Greece (D) India

4.  Wholesome development of a Child is the :
(A) Goal of Physical Education (B) Objective of the Physical Education
(C) Aim of Physical Education (D) All of the above

5.  The largest Chemical factory of the body is :
(A) Liver (B) Pancreas
(C) Salivary gland (D) Pituitary gland

6.  Which is not the law of learning ?
(A) Law of Readiness (B) Law of Exercise
(C) Law of Effect (D) Law of Reaction

7.  Identity the bone injury :
(A) Sprain (B) Strain
(C) Green Stick (D) Laceration
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8.  Forward inclination of the shoulder girdle is :
(A) Forward bending (B)  Scoliosis
(C) Round Shoulder (D) Lordosis

9.  The body is divided into front and back side by the :
(A) Sagittal plane (B) Frontal Plane
(C) Transverse plane (D) None of the above

10. IAATF stands for :

(A) International Association of Athletic Federation

(B) Indian Amateure Athletic Federation
(C) International Amateure Athletic Federation
(D) Indian Athletic Amateure Federation

11. Split halves is the method to establish :
(A) Validity (B) Reliability
(C) Subjectivity (D) None of the above

12.  Which one of the following is not a communicable disease ?
(A) Malaria (B) AIDS
(C) Small Pox (D) Measles

13. The control of speed of movement is followed in :
(A) Isokinetic Exercise (B) Isometric exercise

(C) Isotonic exercise (D) Eccentric exercise

14. ‘Sports top form” depends on :
(A) Training (B) Diet
(C) Psychobiological limits (D) Equipment

15. The term ‘Kurtosis’ refers to :
(A) Height of curve (B) Length of curve

(C) Size of curve (D) Extremes of curve
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10.

11.

12.

13.

14.

15.
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16.

17.

18.

19.

20.

21.

Close form questionnaire contains questions that call for :
(A) Free Responses (B) Check Responses
(C) Descriptive Responses (D) Short Responses

Cooper’s Test is a measure of :
(A) Aerobic Capacity (B) Strength
(C) Anaerobic Capacity (D) None of the above

Competitions conducted within the four walls of the institution are :
(A) Intramurals (B) Extramurals

(C) Indoor Competitions (D) Outdoor competitions

In conduct of any sports competition, the principle of management is :
(A) Planning (B) Organizing
(C) Budgeting (D) All of the above

The term ‘double fault’ is used in ;
(A) Badminton (B) Table Tennis
(C) Tennis (D) Volley Ball

Note: Make the correct choice for gestion No. 21 to 25 from the given Assertion (A)
and Reason (R) :

Assertion (A) : Observation, as a tool for research data gathering process, demands
rigorous adherence to the spirit of scientific inquiry.

Reason (R) : Observations collected in such a way as to make sure that they are
valid and reliable.

(A) Only (A) is true, (R) is false
(B) (R) is true, but (A) is false
(C) Both (A) and (R) are false
(

D) Both (A) and (R) are true
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22.

23.

24.

25.

26.

Assertion (A) : Alcohol is a central nervous system depressant which slows down
the action of the brain and body.

Reason (R) : Consumption of the alcohol disturbs the neuromuscular co-ordination
(A) Both (A) and (R) are true

(B)  (A) is true, but (R) is false
(C) (R)is true, but (A) is false
(D) Both (A) and (R) are false

Assertion (A) : Beta blockers are substances which reduce blood pressure :
Reason (R) : Use of beta blockers enhances endurance performance
(A) Both (A) and (R) are true
B) (A) is true, but (R) is false
) (A) is false, but (R) is true
D) Both (A) and (R) are false

Assertion (A) : It is more difficult to develop speed in comparison to the other
component of physical fitness.

Reason (R) : Speed of an individual is dependent upon the type of muscle fiber,
which depends upon heredity and genetics.

(A) Both (A) and (R) are true
(B) (A) is true, but (R) is false
(C) (A) is false, but (R) is true
(D) Both (A) and (R) are false

Which one of the following pair is not correctly matched ?

(A) Flexion and Extension

(B) Abduction and Adduction
(C) Supination and Pronation
(D) Muscles and Tissues

Which one of the following pair is correctly matched ?

(A) The measure of central tendency is - Correlation

(B)  The simplest measure of dispersion is - Range

(C) The null hypothesis which is nearly true - Type-II Error
(D) Historical Research - Experimentation
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27.
List-1
(@) Mumps (i)
(b) Chicken Pox (ii)
() Malaria (iii)
(d) Immunity (iv)
Code :
(@ (b) (o) (d)
@A) (@) 0 v (i)
B i) () O @)
© (v @) @) 0
D) () @) () @
28.
List-1
(a) Swimming (i)
(b)  Blocking (ii)
(c) Pivot (ii)
(d) Googly (iv)
Code :
(@ (b) (o) (d)
@A) (v) @) @) 0
® () (v O (i)
© @) O ) )
D) () @(v) @) @)
29.
List-I
(a) Sania Mirza
(b) Mohindr Singh Dhoni
() Rajyabardhan Singh Rathore
(d) Kunju Rani
Code :
(@ (b) (o) (d)
A O @) G @)
B (i) (v @ 0
© (v () 0 G
D) Gi) () @) @)

J—4706

Match the list-I with List-II and select the correct answer using the code given below:

List-II

Virus

Salivary

Body Resistance
Mosquitos

Match the list-I with List-II and select the correct answer using the code given below:

List-I1
Cricket
Volley Ball
Basket Ball
Butter Fly

Match the list-I with List-II and select the correct answer using the code given below:

List-1I
i)  Shooting
Wt. Lifting
Cricket

Tennis

10
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30. Match the list-I with List-II and select the correct answer using the code given below:

List-I List-II
(a) Ashes (i) Badminton
(b) Maulana Azad Trophy (i) Sports Trophy
(c) Santosh Trophy (i) Cricket
(d) Thomas cup (iv) Foot Ball
Code :

(@ (b) (o) (d)
(A) @) @) (@v) @)
(B) @) @) @ )
(© @) @) (@) @)
(D) @) (v) () ()

31. Match the list-I with List-II and select the correct answer using the code given below:
List-I List-II

(a) Shivaji Stadium (i) Mumbai
(b) Wankhade Stadium (i) Kolkatta
() K. D. Singh (Babu) Stadium (iii) Delhi
(d) Salt Lake Stadium (iv) Lucknow
Code :

(@ (b) (o) (d)
(A) @) () (@) @)
(B) Gv) (@) () ()
© @ (@) G @)
(D) @) @  (v) (i)

32. Match the classification of Ergogenic aids used in sports from List-I to List-II by using
the code given below:

List-I List-II
(a) Mechanical (i) Carbohydrate loading
(b) Psychology (i) Caffine
(c) Pharmacological (iii) Hypnosis
(d) Nutritional (iv) Equipment

(A) Gv) @ @) (i)
(B) @) @) @ )
(© Gv) (@) G @)

(D) @) @  (@v) (i)
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33. Which day is celebrated as sports day of India ?
(A) 29" August (B) 26™ January
(C) 15™ August (D) 22" August

34. The recovery time of ATP-PC system, Lactic acid, muscle glycogen and liver glycogen
are :

(A) 10 minutes, 60 minutes, 2 hours, 2 days
(B) 8 minutes, 30 minutes, 1 hour, 1 day

(C) 5 minutes, 20 minutes, 2 '/, hours, 2 day
(

D) 10 minutes, 60 minutes, 2 hours, '/, day

35. The order of the oxygenated blood circulation in the circulatory system is :

(A) Arteries, Veins, Capillaries, Heart

(B) Right ventricle, Aorta, Capillaries, Superior Vena Cava
(C) Left Auricle, Left Ventricle, Arteries, Capillaries

(D) Heart, Right Auricle, Superior Venacava, Arteries

36. Identify the standard scores in the followings :
A) ‘t score, Sigma score, Percentiles, F-score
B) T-Score, Sigma Score, Hull Scale, Percentiles

(
(
(C) Sigma Score, Hull Scale, F-Score, Z Score
(

D) ‘t score, Percentile, Sigma Score, Hull Scale

37. Tests of motor ability are :

A) Roger’s test, Barrow’s test, Mcloy’s test, Scott’s test

(

(B) Kraus Weber test, Harward Step Test, Sargent test, ].C.R. test
(C) Cooper’s test, AAHPER’'S test, Canadian Test, Harward’s test
(

D) Oregon’s test, John son’s test, Adam’s Test, Fleishman’s test battery
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33.

34.

35.

36.

37.

IRA 1 Wetfead frg o v s ¢
(A) 29 ATH (B) 26 S

(C) 15 7T (D) 22 37T

T -G, e Tfiae, 7He Tegeife Ud feer Temgehie o1 Sfaufa 999 ® -
(A) 10 fafre, 60 fafte, 2 5, 2 faa

(B) 8 fafte, 30 fafte, 1 &, 1 faa

(©) 5 fafwe, 20 fafe, 21/, W=, 2 faq

(D) 10 fafe, 60 fafe, 25, 1/, faa

R0 a1 B SATRISfeg W6 HeR0T 1 B ©
(A) SRS, o, ShiUards, 81

(B) W i, WIS, Shftetidi, Ui o, shen
(C) W A, TRALH, ST, HiTar
(D) =, 3Tiehe, YRR =1, e, g

= # 9 e R &l TeaH wifva:

(A) ‘'t @R, T @hR, TR, F-%hR
(B) T-TR, Fa @R, 51 Whel, TS,
(C) T @R, 3 Whel, F-&hIY, Z ©hal
(D) ‘t R, T2, form @R, gt T,

TR Tfferd & e T

(A) U5 R, Y W, HFam™ =, Thied

(B) T YR, T TS LUK URI< &, . HLAR T
(C) FTH ¥, LA ML T, Hifedd 3, TEE =
(D) ST e, SN &R, TSR 32, RiGHH & aiel
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38.

39.

40.

41.

42.

Why is it essential for a physical education teacher to have a knowledge of first aid?

(A) Student does not get injured while playing

(B) Student gets immediate remedy
(C) Both (A) and (B) are true
(D) None of the above

Winning phenomenon in sports depends on learning of fundamentals in the following
sequence :

(A) Skill, Technique, Tactics, Strategy

(B) Technique, Skill, Strategy, Tactics
(C) Skill, Technique, Strategy, Tactics
(D) Strategy, Technique, Tactics, Skill

Mechanical movements of walking differs from running in terms of :
(A) Speed (B) Equilibrium
(C) Both (A) and (B) (D) None of the above

Mention the correct Psychological aspects associated with individuals :

(A) Anxiety, Super-ego, Somato Typing, Cohesion

(B) Aggression, Cohesion, Socialization, Super-ego
(C) Super-ego, Aggression, anxiety, Self concept
(D) Mental toughness, self concept, motivation, team work.

Match the list-I with List-II and select the correct answer using the following code:

List-I List-II
(a) Lung Capacity (i)  Ergo meter
(b) Endurance (ii) Gonio meter
(c) Strength (i) Spiro meter
(d) Flexibility (iv) Dynemo meter
Code

(@ (b) (o) (d)
(A) @) @ G (@v)
(B) (v) @) @ ()
(© @) @ (@v) ()
(D) (v) @) @) @
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38.

39.

40.

41.

42.

T IRIReR forerss o ford meifirer ST=m ot STHei 81 91 3Tk © 2
(A) T THI B HIeusd Tel ed

(B) BT %l I8 SYER foersiar 7 |

(C) (A) 3R (B)SHI T&l T

(D) SH® | 9 Hhis o T T S

o @ for 9 | TRy Fee HEs W B H fosa um it St 2
(A) Tepa, Sfes, Sfed, westt
(B) feh, fihd, west, Sfeed
(C) fTiapa, Snfen, westl, faem
(D) T=Sil, T, ofaeq, et

Yoo oo | 7k Tfd, e | 1 wehr f=1 Bt ®)
(A) Tifd (B) Tera
(C) (A)TN(B) T &l § (D) W% H § *E T

= § Fraf-ea TAETS Tegsil &1 =TI it |
(A) TrSIEE, GawEHl, QHderEii, wifest
(B) TOIM, ehifgsH, HRICTESISH, &
(C) YUET, TWRH, TSTgdl, Heheh o<
(

T - 1 - 11
(a) TS H FHY () SR
(b)  HETRTeAdl (i) TR
(c) wfew (iif) TR
(d) eI (iv) SEEl HiX
%< :

@@ () (o) (d)
(A) @) @@ @) (@0
(B) (v) () (@) (i)
(© @) @@ @v) (i)
(D) (v) () G) (D)
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43. Match the following measurement of List-I with List-II and answer by using code:

List-1 List-1I
(a) Centre net height in tennis (i) 2.44 mts.
(b)  Width of Volley Ball attack line (i) 3 feet
(c) Height of Horizontal Cross bar in Foot Ball (iii) 7 yards
(d) Distance of penalty stroke spot (iv) 5cm

from goal line in Hockey
Code :

(@ () (o (d)
(A) (v) () (D) ()
B) @ () (D) ()
Q) (v) () @) ()

44. Which is common in women’s floor exercise in gymnastics, synchronized swimming
and figure skating ?

(A) Music
(B) Time
(C) Both (A) and (B)

(D) (A) is true and (B) is false

45. What is yogic exercise ?
(A) Dynamic Exercise
(B) Static Stretch
(©) (A) and (B) both

(D) (B) is correct but (A) is wrong
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43. = <3 T Fe i HeEa 9 g - 199 G - 10w e wiiE

T - 1
(a) 8 F I H T H S
(b) diciisic i 3 oiE i e
(c) Sl AN, ShIG-aN i ams
(d) BRI H UeRl T i M A g4

g - 11
2.44 HIX
3 hie
7 TS

5 Gt

44. Hfgened i foenfies d§ Wik TrdrEs, finmees fafin td R @hfen § = aam &:

(A) i

(A) IS Y WH

(B) wfeh o

(C) (A) 3R (B) I T T
(D) (B)H&I T, ©fhd (A) T T |
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46.

47.

Read the passage below and answer the Questions No. 46 to 50 based on your
understanding of passage :

Sports has a very symbolic relationship in American society through the mass-
media. On one hand, the staggering popularity of sports is due to no small extent, to
the enormous amount of attention provided by the newspapers, television and radio.
On the other hand these have been able to generate enormous sales in both circulation
and advertising based upon their extensive treatment of sports. These agencies fan the
flames of interest in sports and increased interest in sports warrants further attention
from them. This notion of symbiosis also provides a fruit ful manner of approaching
the history of sport- mass media relationship. the nature of sport and media relationship
has been distinctly shaped by the emerging contours of American capitalism since the
1830’s. Many of the specific development in sport mas media relationship can be
strengthened end only through, the continued recognition that each of these institutions
has been constituted of individual units first and foremost striving for economic profit
in some level of competition with each other. Sports in India is emerging as an institution
especially well suited culturally and ideologically, first, to the emerging industrial
development of the century, and second and more importantly to the mature corporate
capitalist society of the twentieth century.

The main theme of the passage :

i)  Sports and modern India

ii) Sports and performance through media
iii) History of sports - mass media relationship

iv) Sports and mass-media

Codes

(A) (iii) and (iv) are correct
(B) (ii) and (iii) are correct
(C) (i) and (iv) are correct

(D) (iv) is correct

Mass media includes :
(A) Loud Speakers, News Papers and Television
(B) News Papers, Radios and Microphones

(C) Television, News Papers and Radios

(

D) Television, Loud Speakers and Microphones
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46.

47.

e [T 7T TTEIT T AT G UG AT TENIT 1 391 GHT & SIER G FIT & 46-50 F
sl

SHEER AT % S STHAR! TUS % |1 Wohal 1 Tk FdishicHh Gaie o €1 T 3R
WARAI ! TATHT BT oA AT AlhYTIAT 37 TR FHER ToHl, efifas aen fesfl, g stenfee
= U ST & RO T | T TR ST Tk Hehorw H 31feh Jig g8 © a1 Teihe i e
T TR 32 Warshe § g, sAfieiers fagmm o« wifae fhe g1 37 Teifadl ¥ Tese & ufd
il 1 ga 31fueh Sie@ €1 Welghe W 3a1 &1 o 1 i ST Tershe , W IR aifs
AT I HIH KT § | Hewd 1 I8 foaR BT & Sfoer™ qe SHeR WA & HeY a9
AU i Tk Felert Hifd ¥11830 W < H TS YSiag i qeclie W WER Wi %
WeThal o oY o 3H &Yl T IR el | Wetehal q¢1 SHEER HIEammi & Gai i foun |
I o faeng gu qen 39 Feie 1 39 o1 9 IR Aeredt e € for 3 A deemd germa:
G 3l ¥ M © qe1 qead], Th-om 9 fRet 7 fordt wR # ufaerut wea gl
aTfefeh AT it JaTel =1 Wl © 1 IR H Welhe Ueh TN & ®9 H W@ ¢, 701 fosi wq
Y-ToFd: S o I U AR forehrel qen fgdiaa: To Aeeyul 9 9, siee vt o IRued
Yeftaret TES & fel et e fagifas €9 9 S99 7

T R e o

() WA TI YR 9

(i) T TE IR A G USH
(

(

iii) Wl 1 STE Ta SHUER HIeaq Twes

iv) T T SHEIR H1ead

(iii) TR (iv) < & ©
(if) 3R (iif) < | ©
(i) 3R (iv) I T ®
(iv) TR |

SHEER Aed | wffad 2
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48. Relationship between sports and media can be strengthened effectively by involvement

of :
(A) Central Government (B) Corporate Sector
(©) U.G.C (D) State Government

49. Institutionalisation of sports in India is suited to :
(A) Culturally and Ideologically
B) Emerging Industrial Development
) Corporate Capitalist Society
D) All the above

50. U.S.A. model cited in the paragraph is not applicable in India.
(A) Agree

B) Do not agree

Agree only in case of mass-media

Agree only in case of economics

-00o0-
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48. =1 H 9 forw % ot 39 @ O U9 SHGER HIEAH % T g 8 9ohd |
(A) A TeH= (B) hHRWE HFRX
(C) it (D) 2 TETH=

49. 9RG H Well 1 TR ST ©
(A) Heatell Te sgfedetsehat
(B) SVl gE STt seEAr
(C) wfHyE Ysiiafd TAs
(D) IHE |l
50. R feamme T ¥ 9ue T § wefed g 9Rd | S99 e B
(A) wEHd
(B) T¥EHd
(C) SHIR "I & 9wy H 9eHd
(D) TefHeren o FrY H 989

-00o0-
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